A TEE (179, 1716, 1723, 1/30, 2/6, 2/13,2/20,2/27,3/6,3/13,3/20,3/27)
1BB(X) 2HB (H) 3HEB (B) 4HB(K) 5HB (k) 6HEB (K) THE (&) 8HE () 9HEB (H) 108EB (B) 11HEB (X&) 12HB (K) 13HE (K) 14HEB (&)
1 8:00~ - AT(148 /) MT (168/)
2 9:00~ w8 =8 =5 g ) HE P =5 & ARE  |BEEETER |REsETEn
310100~ =8 e o =8 =5 =5 A E 1A98 18228 18248
4 11100~ 25 ) =5 HE =8 =8 P 1R168 1B298 18318
5 12 : 00~ = =) ae 18238 2A58 2A78
6 13:00~| AmEE e 8 =8 HE 18308 28128 28148
T 14:00~| ErHRE e 8 A =5 HE e 286E 28198 2R218
8§ 15:00~| =R P ) P HE e =5 =8 HE 28138 28268 28288
9 16:00~| e HE =5 =8 e A 28208 3858 3878
0 1700~ | e P P =8 P 28278 38128 38148
1 18 : 00~ 511 =2 EE i 3868 38198 38218
12 19:00~ 38138 38268 38288
13 20:00~ 38208 4828 4848
CERIEA S VR EHBUTHBYFEEHSETESEERVET, 38278 4898 48118
cERBRFEFIARBICESELLWVEUET . HEHERIESFEDRVEFHRZHRUSEIL,

MTEE /9, 1716, 1723, 1/30, 2/6, 2/13,2/20,2/27,3/6,3/13,3/20,3/2T)

1HB(X) 288 (B) 388 (B) 4HB) 588 (K) 6HB (X) T7HE (& 8HAE () 9HE (A) 108E (B) 1MHAE (X) 1288 (K) 13HE (&) 14HB (&) 1588 (£) 1688 (H)

1 8:00~

2 9:00~ 1He =) =5 £ hE RHE s
3 10:00~ 271 g g g it 7} ’g
4 1:00~ 7 =) =5 1he 28 28 28 28

5 12:00~ =5 28 28

6 13:00~| AmEiE e he 28 28 e

T 14:00~ | EMERE 1he 28 RHE e

8 15:00~| A e = i e i e g 28 e

9 16:00~| R He = 28 g g ke g g

0 17:00~| e e He 28 g

1 18:00~ e He 28 g 28 25

12 19:00~

13 20:00~

cFRUIT VS UEREHBUTHEY FERSEXTESEERYET,
c ERRFREFARBICHELVELET . BEHEFESFEOBVERZESRUZI,




